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DAQ Settings

2/19/16: TPOL/PS integrated in run 10389
Started with 100 readout samples (150 desired)
mode 8 data: runs 10389 to 10392

mode /7 data: runs 10394 to 10465

mode 1 data: runs 10487 to present



ADC-readout modes

e mode 1: raw samples only
* mode 7: pulse integral, pulse time, pulse param’s

* mode 38: raw samples, pulse time, pulse param’s



ISSUes

Starting DAC (baseline) calibration was not good
TPOL multiplicity was larger than usual due to this

In mode 8, TPOL seemed to be slowing down DAQ
TPOL was switched to sparsitied mode, mode 7
Prompt peak w/ PS was too far to the right in window

Inaccuracy of pulse parameters from mode 7
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TPOL event 9, hit 1, (slot,channel) = (13,0)
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TPOL event 2055, hit 1, (slot,channel) = (13,5)
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TPOL event 1962, hit 3, (slot,channel) = (14,12)
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TPOL event 550, hit 1, (slot,channel)

(13,8)
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TPOL event 366, hit 4, (slot,channel) = (14,13)
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Timing, run 10564 ADC time
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ADC time [ns]
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ADC time vs. pulse height

TimeVsPeak
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Status

Sergey improved the baseline calibration

The wavetorms compare well with expectations and
are fairly well understood

Sasha increased the readout samples to 150

The prompt peak w/ PS has been shifted to a pretty
good location, may need some fine tuning

Starting to look at phi distributions to extract
polarization
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